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𝟐𝟓 + 𝟐𝟎 = 𝟒𝟓

𝟓𝟎 + 𝟐 = 52

𝟐𝟓 + 𝟐𝟓 = 𝟓𝟏

𝟑𝟓 + 𝟗 = 𝟒𝟒

𝟐𝟓 + 𝟔 = 31

50 + 20 = 𝟕𝟎



Can you name each of these 2D shapes?
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addition           coin notes

value total

How much? fewest



I do:

I will calculate the total of the coins.

I will now find another way of making the same total.
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I do:

I will calculate the total of the coins.

I will now find another way of making the same total.

=



= 5£



=

£5 £5



£7



£7



20p 12p



20p 12p = 32p+



45p 20p



45p
20p = 65p+



30p
15p = 45 pence 20p 5p20p+
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•

•

5p+1p=6p
2p+2p+2p=6p

10p+5p=15p
5p+5p+5p=15p




